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Discussion
1. Introduction
In the previous meeting, RAN1 suggested to have Received Interference Power (RIP) as a MDT measurement, and RAN2 then also agreed to have it as below:
We include the Received Interference Power measurement defined in TS36.214 and TS36.133 into MDT measurement for LTE. (FFS whether/how we need to average the RIP before providing it as log)
TS36.214 and TS36.133 are describing how to measure RIP in detail [3, 4]. This paper will discuss how to apply RIP to MDT measurement. 
2. Discussion
For the scheduled IP throughput and Data volume measurement, a measurement period is configured, and during the period, a measurement sample is derived. Even for RIP measurement, the measurement period can be applied. It means that RIP measurement is post-processed in eNB. It would be beneficial to control the signalling overload in NW side, i.e. to avoid that TCE receives too many measurement samples. For example, a RIP sample is measured per 100 ms [3]. Furthermore, a timestamp per the RIP sample could be added in order to monitor the interference variation according to time. If the full information is directly transferred to TCE without a processing, it would result in heavy signalling overhead. It should be considered whether the raw RIP measurement result is really required in TCE. Because the RIP is measured, at eNB RX antenna connector, as a sum of the interference generated by many UEs, the RIP variation wouldn’t dramatically change. Accordingly, it is excessive to tansfer the all RIP samples measured per 100 ms.
Proposal 1: The measurement period is configurable for Received Interference Power (RIP) measurement. During the measurement period, a measurement result is derived.

If the configurable measurement period is accepted in RAN2, the multiple RIPs can be derived during one measurement period. In general, since it would be intended to see an averaged status in the measurement period, the multiple RIPs can be averaged. Fig. 1 shows how to collect and transfer RIP measurements to TCE. In the first measurement period  #1, a RIP #1 is measured, and then eNB logs RIP #1 wih timestamp #1. During the next measurement period #2, RIP #2 and RIP #3 are measured. The eNB averages two values and then logs it with timestamp #2. At the proper time, e.g. to stop RIP measurements, eNB will transfer its logs to TCE. If NW wants to reduce the sigalling overhead or to monitor long-term averaged RIP, longer measurement period can be configured.
Proposal 2: If the multiple RIPs are obtained during a measurement period, the RIPs are averaged.
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Fig 1. RIP measurement per the measurement period.
3. Conclusion
Proposal 1: The measurement period is configurable for Received Interference Power (RIP) measurement. During the measurement period, a measurement result is derived.

Proposal 2: If the multiple RIPs are obtained during a measurement period, the RIPs are averaged.
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